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. zpe energy distribution in CuCu collision at\[s , =62 GeV ‘ hzdc1
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Compare with simulation
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21 o After the fit (gaus+pol4)

— Mean : 26.0=0.3 (fit error)

* Incident energy should be
31 GeV (~84 %)

— Sigma : 7.9%=0.7
e Resolutionis 30.4=+2.7%

o Simulation for 30 GeV.
— Mean : 25.7 (~86 %)
— Sigma : 7.9=x0.7
e Resolution is 26.7 %

Resolution is not reproduced??
Or pol fit is not proper?? 3



Trying to Bin20 - Binl5

y(E') = A(E', E)x(E).
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Binning 20

| Energy unfolding |

V,=A"1V,(A"H',

x10°
20

g T
18— :

E Before unfolding o
°E o Afterunfolding
14—
12

- e Amoms
10—

8- .

- ke ——p

6 *

= e oo

41—

2 —
0_. 1 L | L ' —

0 0.2 0.4 0.6 0.8 1 1.2 14

Xg

Iy B

Binning 15

| Energy unfolding |
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Comparison

Cross section of forward neutron production
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do/dx (mb
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** Normalization for Fit result is not correct.



Acceptance for binning 15

p, distribution : energy at 30 ~ 45 GeV
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p, distribution : energy at 75 ~ 90 GeV
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pT distribution : energy at 45 ~ 60 GeV
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p, distribution : energy at 90 ~ 105 GeV
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pT distribution : energy at 60 ~ 75 GeV
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Remaining major task

e Beam position using BPM
— Now asking BPM.

» X-dependence Is recalculated by phi-dep.
definition.
— It will be done soon. (next week)



